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1. Tn order o show that {(7 (S confipuous at X=C,
choose arbitrary s>o0. Then,

Since f(x) (s confhirumous at X=C,6 geven g,= 1
Choose  §70 st. Ix-cl<§ x€A = [fx)-fl< L,

= < 1f0]+ 1.

- £
= Choose &, 70 s.+
AlSO, juvcn &, 'Qj(dlﬂ_) , ose 0z
lX—ClLSL,XeA - |1 fx)-fAI< &4
Sl'nce, 1S comﬁvwwus aﬁ X =( ven &, = < —,
J  d- 37 208) H)

chdose §; 70 s4 IX-cl 2§35, XeA o Ij(x)’j(()’< <3

Lt § - VVlmégl,SZISSJ, Then ¥xe4,

x-cl¢§ = I{(x)g(x) - {(c)j(c)l = H(x)g(x)—f(x)g(aw‘ {(x)g(c) -{(c)j(c)lé
[F0)1-1g00-80] + 4@ | F0)-f@] <

(HO+1) e, +(lg01H) &5 = % +% = 5.

2. Function £ is not uniformly conhimous on
the Set A if  there exists an £70, such +hat
for every §70 , there exist X eA s.1.

X-yl< %5, yet L{0) -l 17 £

3. (4.334) (iven €20, Since is confinuous at y= fo)

J

Choose  §70, st. 1y-f@l<§ = 190y -4({ol<s

Since § s contimuwous at x=c, jiven &= 9, choose
§ 20, S.t. Ix-cl <§ =2 I -0l <« §;.

Then Ix-cles = [£(0 - fO1 <§ = 19 Hx-gGO e,
\o) l_e,{‘ (Xh) cA be an arla[%mr; SQWM[L (X

im Xn= C = bg Cov\h'VUtu of :]: at x=(

im $Kn) = £CO = by conhinuity of g at f(0)
(l'VV\g(-F()(n) = 3(1[(())- Then 30—,(‘ 'S confimuous at
X=C by the  seguential criterion of cohﬁ'Ml'sz.

.3.6)(a) £ .11, X#o _{-L,X#o
@) Llet  fix) {—i,x:o ; §0) = ! Koo

Then {0 +3x) =0 , f(x)3(0) = -1
(b)) It f& and fX) + 5% are both conhmuous

at X=0 . then by the A[gzbm[c [omﬁ'mu'ély thim
F) = $00+900 -~ 4) s also cont. at o,

(C) Lot —,[O() =0 | +hen fet j(x) be as 1n Ca)/
the n f&) - gx) =0 .

K 2"‘2, X#0
) Let 400 =250t fw +;'7(;<)"{‘/z+z,><=o’

o LX) =2.5 is confinmous.

e)  Not possible .  Tp g = ({0017 (s conh nuoits
then fX) = k(g(x)) 1S conhnueus, where
h(x)= X"



